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FRACTIONS

1
1. Mrs. Sharma has 24 apples. She uses 1 of

them. How many apples does she use? How


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TnwQUvkpBaQF

many does she have left?

o Watch Video Solution

2. Yashi has a packet of 20 biscuits. She gives
1

3 of them to Yana and 1 of them to Jaya. The

real she keeps. How many biscuits does Yana

get? How many biscuits does Jaya get? How

many biscuits does Yashi keep?

o Watch Video Solution



https://dl.doubtnut.com/l/_TnwQUvkpBaQF
https://dl.doubtnut.com/l/_rlHUD11eEcHm

3. What fraction of a day is 8 hours ?

A Y o

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Oj7o7mpiM3hE

4. Determine 3 of a collection of 9 kites.

A 2

B.3

C.6

D.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NLyfw9HAaNf3

5. Write the fraction representing the shaded
portion: Figure (i)  Figure (i)
Figure Figure (v) Figure (vi) Figure

Figure (vii) Figure (viii) Figure

° Watch Video Solution

6. Write the fraction representing the shaded
parts: Figure  (ii) Figure (iii) Figure (iv)

Figure

° Watch Video Solution



https://dl.doubtnut.com/l/_so2G2wYvIacL
https://dl.doubtnut.com/l/_t3kk3mwuOf3i

7. Write the fraction representing the shaded

portion: Figure (i) Figure

o Watch Video Solution

8. Colour the part according to the fraction

. 1 . 2 . .
given: 8 Figure (ii) 1 Figure 3 Figure (iv) 1

1
Figure 9 Figure (vi) 7 Figure

o Watch Video Solution



https://dl.doubtnut.com/l/_t3kk3mwuOf3i
https://dl.doubtnut.com/l/_6PvrqMVnXFF2
https://dl.doubtnut.com/l/_jGxOQp1Qq3j4
https://dl.doubtnut.com/l/_DAvxh79vVy1S

9. What fraction of an hour is 20 minutes?

o Watch Video Solution

10. Write the natural numbers from 2 to 12.

What fraction of them are prime numbers?

o Watch Video Solution

11. Write the natural numbers from 102 to 113.

What fraction of them are prime numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_DAvxh79vVy1S
https://dl.doubtnut.com/l/_aEtjdzlMBcOd
https://dl.doubtnut.com/l/_fohT61iKyPYI

12. Mukesh has a box of 24 pencils. He give half
of them to Sunita. How many does Sunita get?

How many does Mukesh still have?

o Watch Video Solution

13. Kavita has 44 cassettes. She gives 1 of

them to Sonia. How many does Sonia get? How

many does Kavita keep?

o Watch Video Solution



https://dl.doubtnut.com/l/_fohT61iKyPYI
https://dl.doubtnut.com/l/_K4R9FGXxSomd
https://dl.doubtnut.com/l/_nPVdnPVQCrzE

14. Shikhas has three frocks that she wear
when playing. The material is good, but the
colours are faded. Her mother buys some blue
dye and uses it on two of the frocks. What
fraction of all of the Shikha play frocks did her

mother dye?

o Watch Video Solution

15. Represent 5 on a number line.

l o Watch Video Solution


https://dl.doubtnut.com/l/_nPVdnPVQCrzE
https://dl.doubtnut.com/l/_x80PRuTL23qh
https://dl.doubtnut.com/l/_DGvosBbqUdD8

0O 1 5 10
and— on a

16. Represent 10’ 10 10 10

number line.

o Watch Video Solution

2 5 6 :
17. Represent T and 7 on a number line.

o Watch Video Solution

18. How many fractions lie between 0 and 1.


https://dl.doubtnut.com/l/_DGvosBbqUdD8
https://dl.doubtnut.com/l/_OR8LKYI9MKJ1
https://dl.doubtnut.com/l/_3ZYZUAagT7BA
https://dl.doubtnut.com/l/_Cl4I05eMoeKj

° Watch Video Solution

0 8 :
19. Represent gandg on a number line.

° Watch Video Solution

20. Write each of the following divisions as
fractions: ()6 = 3 (ii) 25 = 5 (iii) 125 =+ 50 (iv)

55 + 11

° Watch Video Solution



https://dl.doubtnut.com/l/_Cl4I05eMoeKj
https://dl.doubtnut.com/l/_nsfq4PXvGGlY
https://dl.doubtnut.com/l/_91DkE2wWYzL4
https://dl.doubtnut.com/l/_awv5YjlCOiH5

21. Write each of the following fractions as

divisions: 2 i 2= qii 22 iy .
Ivisions: 7 1 11 11 63 v 5

o Watch Video Solution

22. Express each of the following mixed

5
fractions as improper fractions: 37 (i) 45 (i)
3 2
5

o Watch Video Solution



https://dl.doubtnut.com/l/_awv5YjlCOiH5
https://dl.doubtnut.com/l/_OpXJC4WhHF9X

23. Express each of the following as mixed

tractions: 7 iy 2 iy 28
ractions: 1 | 5 i ?

° Watch Video Solution

24. Convert each of the following into a mixed

fraction:

28
(i) 9

226

15
... 145
(iii) o

128

(iv) —

5

| & I


https://dl.doubtnut.com/l/_ZTZFlXoKKdUA
https://dl.doubtnut.com/l/_jZ12m2dib7Nj

| ¥ Watch Video Solution |

25. Convert each of the following into an

1 5 3
improper fraction: i) 7Z (i) 8? (iii) 5E (iv)

12i
15

o Watch Video Solution

26. Replace () in each of the following by the

8 .3 ()
U(”)g—

correct number — =
7 20

° Watch Video Solution



https://dl.doubtnut.com/l/_jZ12m2dib7Nj
https://dl.doubtnut.com/l/_oGFDllrMTf54
https://dl.doubtnut.com/l/_44c16cSl7Mby

27. Find the equivalent fraction of

o Watch Video Solution

28. Replace () in each of the following by the

coomper 8= O 2 8
correct numbper: | 5 — 20 1 7 = ()

o Watch Video Solution

29. Check whether the given fractions are

equivalent :



https://dl.doubtnut.com/l/_MZjM96qG7YJI
https://dl.doubtnut.com/l/_0DSZH5jMoyMP
https://dl.doubtnut.com/l/_5zOW5Y66Lzyb

o Watch Video Solution

30. Write the fractions and check whether they
are equivalent or not: Figure (i)

Figure

o Watch Video Solution

31. Replace () in each of the following by the

correct number:


https://dl.doubtnut.com/l/_5zOW5Y66Lzyb
https://dl.doubtnut.com/l/_hNaWuQ1spyxk
https://dl.doubtnut.com/l/_SodM2qrrF8WR

O pa—
8 (<)>

4

(i) = = 55

45 15

™M =0
18 ()

Vo =7

o Watch Video Solution

32. Find the equivalent fraction of 5 having
(i) numerator 9

(ii) denominator 30

(iii) numerator 21

(iv) denominator 40



https://dl.doubtnut.com/l/_SodM2qrrF8WR
https://dl.doubtnut.com/l/_JqJqHUwnQNuL

\ o Watch Video Solution

4
33. Find the fraction equivalent to 6_(5)7

having:

(i) numerator 15

(ii) denominator 4
(iii) denominator 240

(iv) numerator 135

° Watch Video Solution



https://dl.doubtnut.com/l/_JqJqHUwnQNuL
https://dl.doubtnut.com/l/_twEIaygOYUVq

34. Find the fraction equivalent of %,
having:

(i) numerator 15

(ii) denominator 18

(iii) denominator 30

(iv) numerator 30

o Watch Video Solution

35. Check whether the given fractions are

valent, 5 30 02 16 7 5
eqU|vaen.§,5—4 i ) i 137 11 v


https://dl.doubtnut.com/l/_DS5xEEqaEyUq
https://dl.doubtnut.com/l/_ndM4eQ6DMmlM

4 32 3 12 9 25

78V 50 W =

o Watch Video Solution

36. Match the equivalent fractions and write

250 180 660 180 220

another 2 for each: 100 200 990 360 B50

° Watch Video Solution

37. Write some equivalent fractions which

contain all digits from 1to 9 once only.

o Watch Video Solution



https://dl.doubtnut.com/l/_ndM4eQ6DMmlM
https://dl.doubtnut.com/l/_R6K0xGEp4ISq
https://dl.doubtnut.com/l/_ikIqBSdmCGrd

38. Ramesh had 20 pencils, Sheelu had 50
pencils and Jamaal had 80 pencils. After 4
months, Ramesh used up 10 pencils, Sheelu
used up 25 pencils and Jamaal used up 40
pencils. What fraction did each use up? Check

if each has used up an equal fraction

° Watch Video Solution



https://dl.doubtnut.com/l/_ikIqBSdmCGrd
https://dl.doubtnut.com/l/_ipuSd9sxL1Ns

39. Reduce each of the following fractions to

ts lowest term: ) 23 iy 126
ItS lIowest term: | % I W

° Watch Video Solution

40I169"t' lest form?
15 5g In its simplest form:

° Watch Video Solution

41. Reduce each of the following fractions to

its lowest terms (simplest form): i) ﬂ (i) £
75 28


https://dl.doubtnut.com/l/_SLK7vWuWgPH3
https://dl.doubtnut.com/l/_OE7zI0Is2RWd
https://dl.doubtnut.com/l/_bECkSAAguJHS

(iii) B

o Watch Video Solution

42. Reduce each of the following fractions to

ts lowest terms (simplest form: i) -2 (ii) —
its lowest terms (simplest form): i o i o1
L. 84
(iii) 6

o Watch Video Solution

43. Simplify each of the following to its lowest

L (5 .. 52 84
term: i) — (i) — (iii) —
erm: i) 30 (i) 6 (i) 0%


https://dl.doubtnut.com/l/_bECkSAAguJHS
https://dl.doubtnut.com/l/_xM8VQ858jsoE
https://dl.doubtnut.com/l/_YmD91L9troJI

° Watch Video Solution

44, Simplify each of the following to its lowest

68 150 .. 162
term: i) — (ii)) — (iii)) —

17 50 108

o Watch Video Solution

45.which is larger > or —7
- WnIicn Is arger4 or 12 °

o Watch Video Solution



https://dl.doubtnut.com/l/_YmD91L9troJI
https://dl.doubtnut.com/l/_aCupnllse9gt
https://dl.doubtnut.com/l/_LOUvbPhZN2z0

46. Arrange the following fractions in

5 5 7 3

ascending order PR

° Watch Video Solution

5
47. Compare — and —
8 6

° Watch Video Solution

3
48. Ravish exercised for 5 an hour, while Rohit

3
exercised for 1 of an hour Who exercised for


https://dl.doubtnut.com/l/_okVB9FvAPKZP
https://dl.doubtnut.com/l/_dLQUbS8fcPQJ
https://dl.doubtnut.com/l/_zrxYGt9eESca

a longer time ?

o Watch Video Solution

49, Arrange the following fractions in

descending order —, —, —, —, —

° Watch Video Solution

50. In a class A of 25 students, 20 passed in

first class; in another class B of 30 students, 24


https://dl.doubtnut.com/l/_zrxYGt9eESca
https://dl.doubtnut.com/l/_O4H3TM3V4jje
https://dl.doubtnut.com/l/_dylQfw5QeZzk

passed in first class. In which class was a

greater fraction of students getting first class?

° Watch Video Solution

51. Write each fraction. Arrange them in

ascending and descending order using correct

. . 2
sign <7 > (') ga ga ga E (“)
1 3
2’5

qklc,o

2
gv

Y

o Watch Video Solution



https://dl.doubtnut.com/l/_dylQfw5QeZzk
https://dl.doubtnut.com/l/_YaQKLw2CUxIW

52. M k2 48 d6 th ber li
. Mar 6, E,ga’n Eon e numper line

and put appropriate signs between fractions

given below:

o Watch Video Solution

53. Compare the following fractions and put

. . 3 .3 .1
an appropriate sign: 3 (i) 0 (iii) 73 (iv)
8
65

o Watch Video Solution



https://dl.doubtnut.com/l/_OTkltobQsn38
https://dl.doubtnut.com/l/_syrfNOiTopCB
https://dl.doubtnut.com/l/_wBWOPXzmTs6h

54. Compare the following fractions and put

an appropriate sign:

o Watch Video Solution

55. Compare the following fractions using the

symbol > or < :

) 6
(i) 7and I


https://dl.doubtnut.com/l/_wBWOPXzmTs6h
https://dl.doubtnut.com/l/_fq3iUOfBhEZz

(i) 3 q 5
i) = and -
(i) 2 q 8
i) 5 and —
1 4

(iv) 5 and 15

o Watch Video Solution

56. Compare the following fractions using the

symbol > or < :

(i) S d S
R
15
(ii)iand—
9 8

° Watch Video Solution



https://dl.doubtnut.com/l/_fq3iUOfBhEZz
https://dl.doubtnut.com/l/_N1C2DQc6PUSt
https://dl.doubtnut.com/l/_6Kty87FufEfg

57. The following fractions represent just three
different numbers. Separate them into three
groups of equivalent fractions, by changing
each one to its simplest form. (a)

““\fra c{2}{{12}}°

Watch Video Solution

58. The following fractions represent just three
different numbers. Separate them in to three

groups of equal fractions by changing each one

12 12 3 4
to its simplest form: . Y
o its simplest form = (i1) = (iii) 13 (iv) o



https://dl.doubtnut.com/l/_6Kty87FufEfg
https://dl.doubtnut.com/l/_z2XDZdWR6bDf

o Watch Video Solution

59. Isha read 25 pages of a book containing 100
pages. Nagma read 3 of the same book. Who

read less?

o Watch Video Solution

60. Arrange the following fractions in the

ascending order:


https://dl.doubtnut.com/l/_z2XDZdWR6bDf
https://dl.doubtnut.com/l/_XFnCAVOXsdfV
https://dl.doubtnut.com/l/_L23C7eiTgMob

° Watch Video Solution

61. Arrange in descending order in each of the

8 8 8 8
T 177975713
5 3 1 2 11 9 13

g 1373 15( )2 350 120 B

following using the symbol >

° Watch Video Solution



https://dl.doubtnut.com/l/_L23C7eiTgMob
https://dl.doubtnut.com/l/_LLHoAKySrzx5

62. Find answers to the following. Write and

indicate how you solved them.

o Watch Video Solution

63. Find answers to the following. Write and

indicate how you solved them.

(i) 4 't 16
)1s — equal to oo 20
4
Is — lto — 7
(i) Is I equal to 20

° Watch Video Solution



https://dl.doubtnut.com/l/_9AojJLbOPydL
https://dl.doubtnut.com/l/_8x8bct9km3kw
https://dl.doubtnut.com/l/_HOeJ5EJCXmnU

64. Write fraction for shaded part of each

di

agram.

o Watch Video Solution

65. Add the following fractions:

2

3 4

7

7t 7

1
6

+ % (i)

o Watch Video Solution



https://dl.doubtnut.com/l/_HOeJ5EJCXmnU
https://dl.doubtnut.com/l/_bTWFb9sIxioS

66. Add the following fractions: 2

(_,)11 23 71
Wi T T g

3+4+12
5 5 5

o Watch Video Solution

3 8
67. Subtract 10 From 10

o Watch Video Solution

5 7 11
68. Compute: — +

12 12 12

o Watch Video Solution



https://dl.doubtnut.com/l/_qFrsh3J1YHol
https://dl.doubtnut.com/l/_mSFNUIX52Gto
https://dl.doubtnut.com/l/_NZna2Ho6e8dr

69. Simplify: 4> + & _ 42
cDIMPlII 44— —_— — 44—
PIY: 25 T3 7 %3

o Watch Video Solution

70. Write these fractions appropriately as

additions or subtractions: Figure Figure

° Watch Video Solution

5)
71.Solve : — + —



https://dl.doubtnut.com/l/_NZna2Ho6e8dr
https://dl.doubtnut.com/l/_Ysfc3tXdYzKe
https://dl.doubtnut.com/l/_5Zf1S3K80Mrr
https://dl.doubtnut.com/l/_ue71HCBDhdCE

° Watch Video Solution

3 7
72.Solve: > 1+
olve: T¢ + ¢

° Watch Video Solution

73.Sol '3—|— /
.Solve: oo + =5

o Watch Video Solution

74. Sol 1—|-O
.Solve: + + -



https://dl.doubtnut.com/l/_ue71HCBDhdCE
https://dl.doubtnut.com/l/_NyoV1pJpLpl0
https://dl.doubtnut.com/l/_AqChKUn7ilpu
https://dl.doubtnut.com/l/_ETpV756mpb5A

\ o Watch Video Solution

75.50lve s —+ 4 2 4 L
ONVE e T3 T 13

o Watch Video Solution

76.Solve : > 1 2 1
OV e T 15 T 15

o Watch Video Solution

7 4 9
77.Solve : 30 31 + 31



https://dl.doubtnut.com/l/_ETpV756mpb5A
https://dl.doubtnut.com/l/_0tEs3NP7kVOQ
https://dl.doubtnut.com/l/_TUcOJjxj1Xip
https://dl.doubtnut.com/l/_GGgcV2jahHEg

\ o Watch Video Solution

78. Sol -32—|—1 23
-Solve: 3= + < -

o Watch Video Solution

79. Sol -21 12—|—41
.Solve: 25 3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_GGgcV2jahHEg
https://dl.doubtnut.com/l/_tBxCi68IjUpN
https://dl.doubtnut.com/l/_mkWEILRPJk1O
https://dl.doubtnut.com/l/_ka712KgfZZU7

\ ° Watch Video Solution

16 5 9
81.Solve: — — — + —
7 7 7

° Watch Video Solution

1
82. Shikha painted 5 of the wall space in her
room. Her brother Ravish helped and painted 5

of the wall space. How much did they paint

together? How much the room is left unpainted?

° Watch Video Solution



https://dl.doubtnut.com/l/_ka712KgfZZU7
https://dl.doubtnut.com/l/_il6PHmabp2nA
https://dl.doubtnut.com/l/_GOhJynbWT8wi

1
83. Ramesh bought 25 kg sugar whereas Rohit

1
bought 35 kg of sugar. Find the total amount of

sugar bought by both of them.

° Watch Video Solution

3
84. The teacher taught 5 of the book, Vivek
1

revised 5 more on his own. How much does he

still have to revise?

° Watch Video Solution



https://dl.doubtnut.com/l/_GOhJynbWT8wi
https://dl.doubtnut.com/l/_szWTVYHDr5GT
https://dl.doubtnut.com/l/_HljeP6jf9h6a

=

85. Amit was given %

° Watch Video Solution

86. Fill in the missing fractions: 1—2 — () =
. 3 3 3 3
W 0O-5=5 0-5-3

5 12

° Watch Video Solution

87. Add: i) ’ + - (i) L2
. .|§ §||E+§

f


https://dl.doubtnut.com/l/_ptWz3eJDN7l7
https://dl.doubtnut.com/l/_3Es2ibtdB1TF
https://dl.doubtnut.com/l/_suNX30zUzwSf

° Watch Video Solution

5
88. Add: 2é and 3—
5 6

° Watch Video Solution

89. Simpli '81 25
. IMp |fy. Z E

° Watch Video Solution

5) 5
90. Find the sum: 9 + 6+ 17



https://dl.doubtnut.com/l/_suNX30zUzwSf
https://dl.doubtnut.com/l/_gUD5lLE9Tm9T
https://dl.doubtnut.com/l/_2MLEzTGhqzHs
https://dl.doubtnut.com/l/_Z2B50w5wRepo

° Watch Video Solution

91.si I'fy42 31, ol
OIMpPIITY: 44— — _— —
PITY: =3 1 6

° Watch Video Solution

92. Find the difference of 1—7 and E
24 16

° Watch Video Solution

93, Add: E and E
4 6



https://dl.doubtnut.com/l/_Z2B50w5wRepo
https://dl.doubtnut.com/l/_qIxO2ok2rv5C
https://dl.doubtnut.com/l/_1Jpo52Oef06Q
https://dl.doubtnut.com/l/_GqnbaZ466070

° Watch Video Solution

94. Add: ! d 2
-Add: T and—-

o Watch Video Solution

95. Add: S d2
-Add: = and <

o Watch Video Solution

4 7
96. Add: g and 1—5



https://dl.doubtnut.com/l/_GqnbaZ466070
https://dl.doubtnut.com/l/_hZKskAGLec7R
https://dl.doubtnut.com/l/_5HhL6AzjeJkH
https://dl.doubtnut.com/l/_5zu4UP3wsvnK

\ o Watch Video Solution

97. Subtract:

2]c 19
. rom o2

° Watch Video Solution

98. Subt t21f 18
- Subtract: o from -5

° Watch Video Solution



https://dl.doubtnut.com/l/_5zu4UP3wsvnK
https://dl.doubtnut.com/l/_EjrvbDTBE0e1
https://dl.doubtnut.com/l/_zfhmyiWMvpN2

99. Subt t'7f 18
.U raC.1—6 romz—o

° Watch Video Solution

1
100. Subtract: ifrom 2—
15 5

° Watch Video Solution

101. Find the difference of : % and l

16

° Watch Video Solution



https://dl.doubtnut.com/l/_qkmRFbvS1AcT
https://dl.doubtnut.com/l/_rnzacDfk4cvd
https://dl.doubtnut.com/l/_tOJClmbAKMkC

: : 5 4
102. Find the difference of : 18 and 5

° Watch Video Solution

: : 1 3
103. Find the difference of : i) and 1

° Watch Video Solution

2 6
104. Find the difference of : 3 and =

° Watch Video Solution



https://dl.doubtnut.com/l/_uvT8omtiF8E5
https://dl.doubtnut.com/l/_FomID0mBnXwK
https://dl.doubtnut.com/l/_O1pql7oOGZjD

8 5
105. Subtract as indicated: 379

° Watch Video Solution

2 1
106. Subtract as indicated: 43 — 23

° Watch Video Solution

§ 2
107. Subtract as indicated: 57 — 25

° Watch Video Solution



https://dl.doubtnut.com/l/_5ErTbYKjsLPg
https://dl.doubtnut.com/l/_j229FkTFmnLb
https://dl.doubtnut.com/l/_rPfvpv6DB2Eb

3 1
108. Subtract as indicated: 4Z — 26

° Watch Video Solution

... 2 3 1
109. Simplify: 3 + 1 + 5

° Watch Video Solution

. .. 9 2 3
110. Simplify: 3 + T + "

° Watch Video Solution



https://dl.doubtnut.com/l/_sgoTvRhJbwif
https://dl.doubtnut.com/l/_uOsTIVumbEzp
https://dl.doubtnut.com/l/_ACtxRjR9quKo

3 3
1. Slmpllfy — + 1—75 + 5

° Watch Video Solution

3 5
112. Simplify: — + 1_76 + 3

° Watch Video Solution

113. Simpli ‘42+31—|—71
. Implfy. g Z 5

° Watch Video Solution



https://dl.doubtnut.com/l/_IssnZljSMGVS
https://dl.doubtnut.com/l/_6lutxsYsirFH
https://dl.doubtnut.com/l/_iYJH189tynkB

114. Simpli -71+32+51
. Simplify: 3 3 6

° Watch Video Solution

1
115. Simplify: 7 + g + 56

° Watch Video Solution

5 3
116. Simplify: G + 3+ 1

° Watch Video Solution



https://dl.doubtnut.com/l/_iaFmhdMtbxiQ
https://dl.doubtnut.com/l/_B3XWBhmHAGs9
https://dl.doubtnut.com/l/_XSSekB34dByE

5

1
117. Simplify: i + = 3 + 1E

° Watch Video Solution

118. Replace ( ) by the correct number:

O-v=2@0-5=35- 0=

o Watch Video Solution

119. Sarita bought %

o Watch Video Solution



https://dl.doubtnut.com/l/_BwhW6eUmDvAi
https://dl.doubtnut.com/l/_yoYVKfdSGNak
https://dl.doubtnut.com/l/_hJj0UHlk1gTW

1
120. Ravish takes 23 minutes to walk across the

7
school ground. Rahul takes 1 minutes to do the

same. Who takes less time and by what fraction?

o Watch Video Solution

7
121. A piece of wire 3 meter long broke into two

: . 1 .
pieces. One piece was 1 meter long. How long is

the other piece?

o Watch Video Solution



https://dl.doubtnut.com/l/_hJj0UHlk1gTW
https://dl.doubtnut.com/l/_b0SO4v7KMIc0
https://dl.doubtnut.com/l/_6MdAjjLxWVpa

122. Asha and Samuel have bookshelves of the
same size partly find with books. Asha's shelf is 6
5 th full and Samuel's shelfis 5 2 th full. Whose

bookshelf is more full? By what fraction?

° Watch Video Solution

123. Nandinis house is

° Watch Video Solution



https://dl.doubtnut.com/l/_6MdAjjLxWVpa
https://dl.doubtnut.com/l/_lp7K1If5IWN3
https://dl.doubtnut.com/l/_pLJPOGwmPO3d
https://dl.doubtnut.com/l/_sgSiV0IGoVVV

124. Which of the following is a proper fraction?

>

] w Wk

D2~
5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sgSiV0IGoVVV

125. Which of the following is an improper

fraction?

° Watch Video Solution

126. Which of the following is a fraction

equivalent to — 7

3
4b8 lOd 10

° Watch Video Solution



https://dl.doubtnut.com/l/_YPAyEX8SZao5
https://dl.doubtnut.com/l/_M40lCRfsnYSW

127. A fraction equivalent to — is

5
3+ 2

o+ 2
3—2

Hh—2
3 x 2

DX 2
(d) None of these

(a)
(b)
(c)

° Watch Video Solution

5
128. I E Is equivalent to %, then z =

b 3
(a)—() (C) ()5

° Watch Video Solution



https://dl.doubtnut.com/l/_rwteLuN0xtTf
https://dl.doubtnut.com/l/_qC7OHkGXoTxL

129. Which of the following are like fractions?

3 7 16 2
S117 117 117 11

2346
374’57

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qC7OHkGXoTxL
https://dl.doubtnut.com/l/_Dd49tBSrjCSo

11
130.If — = Z, then x =
4 T

77
a)28 (b) 28 (c) 44 (d) 308

° Watch Video Solution

131. + is equal to

()7(b)12()41(d)N fth
a) 37 0) 45 @445 one of these

° Watch Video Solution



https://dl.doubtnut.com/l/_8af8CJs8Bwjw
https://dl.doubtnut.com/l/_plLsXrK0VsUX

1 1 1
1B2.If —+ — 4+ — =4, thenx = 7
x

3 2
5) § 18 24
(a) 1_8 (b) 1—9 (c) ? (d) 11

o Watch Video Solution

133If1—|—1—2th —()z(b)5()3
.5 ;—, enx—ag ECE
(d)2
3

° Watch Video Solution



https://dl.doubtnut.com/l/_cXxn7RKFZ6Md
https://dl.doubtnut.com/l/_pNfgIMTfENa7

134. Which of the following fractions is the

smallest?

N~ N w o w o e

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pvjAKq7wBGom

135. Which of the following fractions is the

greatest of all?

7T 6 4 5
8756
(a)

—~
(®))
N

e
0| S| Tten| s 3| o ]

P
o
N

° Watch Video Solution



https://dl.doubtnut.com/l/_TXhGkPaCtRqO

atb w8403

136. What is the value of ,
a—>b b 5)

° Watch Video Solution

6a + 4b s (a)

137. If 2 _ é, then the value of
b 3 6a — 5b

—1(b)3(c)4(d)5

o Watch Video Solution



https://dl.doubtnut.com/l/_HsgCnaxvhXwi
https://dl.doubtnut.com/l/_beDbAUzixtS6

138|f1 1—4th =
. g g—;, enxr —

(a)—120 (b) —100 (c) 100 (d) 120

° Watch Video Solution

1
139. The fraction to be added to 61—75 to get 83

is equal to

11 1 44 3
(a) T (b) 1 T (c) 3 (d) u°

° Watch Video Solution



https://dl.doubtnut.com/l/_xTFVILemQvL8
https://dl.doubtnut.com/l/_lLVMhhsNrhE4

140. If — is equivalent to —, then x =
60 z

(@) 5(b) 4 (c)6(d) 20

° Watch Video Solution

5
141. A fraction equivalent to —— is
105

§ 4 5 7
(a) ﬁ (b) 7 (c) 7 (d) E

° Watch Video Solution



https://dl.doubtnut.com/l/_HkuqTU0OsYvJ
https://dl.doubtnut.com/l/_fwppEZsqi129

1425+3 7 | to:
.g Z E|Sequa O:
1

15 17 19 2
(a) o4 (b) o4 (c) o (d) Yy

o Watch Video Solution

. . M 5
143. The correct fraction in the box () is () — —

8

>

&
|~ ool oo

N



https://dl.doubtnut.com/l/_rP477KDk2ST9
https://dl.doubtnut.com/l/_oMCeENewCEYl

D. None of these

Answer: B

o Watch Video Solution

144. A fraction equivalent to 3 Is

2+ 3
3+3

®r 5y

2 X b

(a)

o Watch Video Solution



https://dl.doubtnut.com/l/_oMCeENewCEYl
https://dl.doubtnut.com/l/_NDT3fQD1j2JK

145. A fraction equivalent to T is

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NDT3fQD1j2JK
https://dl.doubtnut.com/l/_SGvZoDtbpfmr

146. A fracti ivalent t 30'()3(b)3
- A fraction equivalent to —— is (a) 7 5
2

(d) 3 (d) None of these

o Watch Video Solution

147. Which of the following is a proper fraction?

()E(b)é()lg(d)N fth
a) ¢ (b) 7 () 15 one of these

° Watch Video Solution

148. Which of the following is a proper fraction?


https://dl.doubtnut.com/l/_JiEKdAl3jRSK
https://dl.doubtnut.com/l/_zxAKcW1jCAGm
https://dl.doubtnut.com/l/_teQmpgMHhmNA

w| ot o w

D. None of these

Answer: A

° Watch Video Solution

4
149. % is an example of

A. a proper fraction


https://dl.doubtnut.com/l/_teQmpgMHhmNA
https://dl.doubtnut.com/l/_3sD68Bo4uTZK

B. an improper fraction

C. a mixed fraction

D. None of these

Answer: B

° Watch Video Solution

150. Which of the following fraction

smallest?
5 4 2 11
9’99’ 9

11
(a) 9

is the


https://dl.doubtnut.com/l/_3sD68Bo4uTZK
https://dl.doubtnut.com/l/_2BtCFuLtF9mE

P P
o T
©| o O] S|

P
o
N

o Watch Video Solution

i

3 2 5
151. The smallest of the fractions —, —, —, ,
53 6710

IS

—~
Q
N

P
O
N
S| cren| | o



https://dl.doubtnut.com/l/_2BtCFuLtF9mE
https://dl.doubtnut.com/l/_wl5SMBcy1Vh8

& Watch Video Solution ]

152. If 1 Is equivalent to 2£8’ then the value of

T is
A. 6
B.7

C.8

D. None of the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wl5SMBcy1Vh8
https://dl.doubtnut.com/l/_3s51sDiND29G

45 3
153. If — is equivalent to —, then the value of

60 T

xis(a)3(b)6(c)4(d)9

° Watch Video Solution

1 1
154. — + — = 3,thenz =
T

3
7

(a) =

3

—~
o
N

—~
o
N

P
o
00| wo W[ | o

—

—


https://dl.doubtnut.com/l/_3s51sDiND29G
https://dl.doubtnut.com/l/_b0BacQfw9T1i
https://dl.doubtnut.com/l/_b5FA63JXQyFt

| & Watch Video Solution

155. Javed was given

=] | o

° Watch Video Solution

156. Reduce 84 /98 to its lowest terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_b5FA63JXQyFt
https://dl.doubtnut.com/l/_fQRherr1Qqs3
https://dl.doubtnut.com/l/_hTsERnFUQgHn

3
157. The cost of a pen is Rs.16<g) and that of a

3
pencil is Rs. 4(1). Which costs more and by

how much?

° Watch Video Solution

1 1 1
158. Simplify: 5— — 3— — +4
585|mpn°y56 34—|-33—|—

° Watch Video Solution



https://dl.doubtnut.com/l/_6XuEYdRsTnr6
https://dl.doubtnut.com/l/_oKqn1q3jVoY6

159. Three boxes weigh
18

1 1
%kg, 7§kg and 103 kg  respectively. A

porter carries all the three boxes. What is the

total weight carried by the porter?

° Watch Video Solution

160. Arrange the following fractions in ascending

13 8 17 7
187 157 247 12

order:

° Watch Video Solution



https://dl.doubtnut.com/l/_2XpMTEg3pMIM
https://dl.doubtnut.com/l/_5qSxuZ3p7s7O
https://dl.doubtnut.com/l/_j2T0p35ghOGA

161. Subtract the sum of —and— from the sum

3 2
5 4
7 and —

of 5> 7375

o Watch Video Solution

162. Complete the addition-subtraction box

o Watch Video Solution

1
163. Shika bought 75 litres of milk. Out of this

milk, SZ litres was consumed. How much milk is


https://dl.doubtnut.com/l/_j2T0p35ghOGA
https://dl.doubtnut.com/l/_M3Vb86Fis2PK
https://dl.doubtnut.com/l/_YJwuXkmJqwSI

left with her?

° Watch Video Solution

164. Simplify: 3 11—|—2 !
. Simplify: +§ 318

° Watch Video Solution

2
165. Fill in the blanks: 7§ +() =9

° Watch Video Solution



https://dl.doubtnut.com/l/_YJwuXkmJqwSI
https://dl.doubtnut.com/l/_3xt7q9iuVsb2
https://dl.doubtnut.com/l/_pw1zQYBdw5kA
https://dl.doubtnut.com/l/_xXk3nptqGQvT

1
166. Fill in the blanks: 8§ —() = %

o Watch Video Solution

1 1
167. simplify: 6— — 5—
simplify 6 =

o Watch Video Solution

90
168. —— reduced to simplest form ......
108

o Watch Video Solution



https://dl.doubtnut.com/l/_xXk3nptqGQvT
https://dl.doubtnut.com/l/_XZNYWkXP2eVM
https://dl.doubtnut.com/l/_bWMh3tXJdfV1
https://dl.doubtnut.com/l/_0Nekln48X1zI

2

o Watch Video Solution



https://dl.doubtnut.com/l/_0Nekln48X1zI

